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5.1-5.2

Solve Inequalities Using
Addition, Subtraction,
Multiplication, & Division

When graphing inequalities,
make sure the variable is on the left.
‘ closed circle Graph the following:

> < 1. x<?2

O opencircle oW
> < 3. -3 <X X D -3
4. x=0
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Write an inequality represented by each graph.

5. € e

3 4

Use inverse operations to solve the inequalities.

Solve and graph.

8. 17 9. 3. 2.(
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h=z —-.5
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10. —57a—5 11, -22 <k = )
+5 S =34 4
027 564K
a< o z 56
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Use inverse operations to solve the inequalities.
Solve and graph.

12. 8y/'+ 3 \_ey 14
' P y- ‘{
+4 + |4 B
|2 >71 6 17 18
Y <

13. 3r-17 5/+ 14
-2r Ar
r;_//{» lL’ é‘}_?’v‘b‘am
=

i 3 R
r * 31

Verbal problems containing phrases like greater
than or less than can often be solved by using
inequalities. The following chart shows some

other phrases that indicate inequalities.

< > < >

e atmost e atleast

e grealer |¢ nomore |o noless

e less than
than than than
o fewer
than ¢ more e less than |e greater
than or equal than or

to equal to
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14. TheGQumf -14 and d is less than -22.
Write an an inequality and solve.

—y/+ 4 < —-22
E + 1

A< -8

15. The.@m‘ferenc‘@c 8 qnd g is at least -17.
Write an an inequality and solve.

A7 -
_4_7 — YY,\\\;Hb;r

25
FL(P

16. Jessie's budget allows her to spend at most
$17.50 on new equipment for her model
railroad. She has chosen a new railroad
car that costs $9.98. How much can Jessie

spend on other equipment?
Let X= mone\‘t left

+ 99¢ £ 1#.50
~924% 9.9%

X <« $7.52
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17. A stove and freezer together weigh at least
260 kg. The stove weighs 115 kg.
What can the weight of the freezer be?
let x = weigh¥ of freczer

| 5 > 200
_—IVB/FK —1]5
X 2 H5 kg

18. Cecilia has scores of 8.7, 9.3, 8.8, and 9.4
in a figure skating competition.
What must her fifth score be if she wants

a total of no less than 45.97
let X = Fifth score

%72+9.3+3.%49.U+ x = H5.9
N

3.2+ X 2 45,9
—3b<L —%.%

X2 9. F
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Solve and graph.

19. 4y ¥ -22 <2 20.-3 ,
%1 _'1.7_2 O/Z’Zim 2

L}

y» -4 o2 62
w el L2 3
21, -84d6b  22.216 TE z

e b
’izb %3.]7£C
§>4 G232
3 H—mwwm)
o) 5

When you multiply or divide
BOTH sides of an inequality by a
NEGATIVE value, you must
FLIP the inequality sign!!

23, 1%h > 515 2474L = 5.y
=8 -I5%5 -
h< -3 p< 20
Coprts Lo

o 9 20 9|
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25 Im=28 26. Im=-2

— =
m = - m = —
< -4 3 -5 -y -3

297 -2 M ~Z 30.,5 2 1 &
-1.° [ -9 . [2 -1, L
527 %4 279 =313

72
h<-% /\ ,,,,,, $ 044 __1_é
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31. The x and -4

Is greater than or equal to 8.
Write an an inequality and solve.

-:L,“ =z P
< =37
32. The1c 12 and his at most 16.

Write an an inequality and solve.

Zh £ 1Y
KV A
A q
— 3

33. An acute angle has a measure greater than
0 degrees and less than 90 degrees. In the figure
shown, what is the set of all possible values of r?

O O+ 2r=1Fd 4. 20
(2r - 10)
b € 2 T 100

[5<T L5 |
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